BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE SPRING CREEK TRAILS SECTION 5

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159
MONTGOMERY COUNTY, TEXAS
AUGUST 01, 2025
LIA ENGINEERING, INC.

E. MURPHY AUGUST 01, 2025 2022-2115 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

	BIDDER NAME	BASE BID	ALTERNATE NO. 1 PLUS BASE BID	ALTERNATE NO. 2 PLUS BASE BID
1) BAY UTILITIES. LLC		\$1,319,379.50	\$2,244,293.50	\$1,386,579.50
2) FELLERS AND CLA	RK LP	\$1,322,250.00	\$2,215,000.00	\$1,377,660.00
3) R CONSTRUCTION	I CIVIL, LLC	\$1,343,984.00	\$2,186,013.00	\$1,386,848.00
4) TEXASITE		\$1,435,815.00	\$19,338,274.75	\$1,518,843.00
5) DACO PAVING, IN	C.	\$1,475,430.36	\$2,250,000.00	\$1,534,704.36
6) CE BARKER LTD.		\$1,586,564.00	\$2,546,007.00	\$1,707,194.00
7) NORTHTEX CONST	TRUCTION, LLC	\$1,608,430.48	\$2,482,062.81	\$1,698,478.18

CALENDAR DAYS - 35/50



I, Sebastian Guio , PE., hereby certify these bid tabulations to be true and correct.

			1) BAY U	TILITIES. LLC	2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) TEXASITE	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SANITARY SEWER ITEMS 1. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0'-8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	263	\$47.00	\$12,361.00	\$45.95	\$12,084.85	\$28.00	\$7,364.00	\$47.00	\$12,361.00
2. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2515	\$49.00	\$123,235.00	\$45.95	\$115,564.25	\$26.00	\$65,390.00	\$49.00	\$123,235.00
3. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1320	\$53.00	\$69,960.00	\$45.95	\$60,654.00	\$28.00	\$36,960.00	\$51.00	\$67,320.00
4. STANDARD PRECAST SANITARY SEWER MANHOLE, (0'-8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	29	\$2,600.00	\$75,400.00	\$2,674.70	\$77,566.30	\$2,650.00	\$76,850.00	\$4,000.00	\$116,000.00
5. EXTRA VERTICAL DEPTH, OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	107	\$130.00	\$13,910.00	\$139.80	\$14,958.60	\$185.00	\$19,795.00	\$300.00	\$32,100.00
WET AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	165	\$169.00	\$27,885.00	\$237.05	\$39,113.25	\$275.00	\$45,375.00	\$200.00	\$33,000.00
7. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	5743	\$1.00	\$5,743.00	\$0.10	\$574.30	\$1.00	\$5,743.00	\$1.00	\$5,743.00
8. VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES INCLUDES, DIGITAL COPY, COMPLETE IN PLACE	LF	500	\$3.00	\$1,500.00	\$3.05	\$1,525.00	\$2.20	\$1,100.00	\$0.05	\$25.00
 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D- 3034, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, DROP, RISER, WYE, STACK, PLUG, MARKER, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE 	EA	33	\$700.00	\$23,100.00	\$954.50	\$31,498.50	\$1,100.00	\$36,300.00	\$1,500.00	\$49,500.00
10. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-3034, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, DROP, RISER, WYE, STACK, PLUG, MARKER, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	LF	1630	\$46.00	\$74,980.00	\$45.35	\$73,920.50	\$46.00	\$74,980.00	\$60.00	\$97,800.00
11. STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$700.00	\$1,400.00	\$914.25	\$1,828.50	\$500.00	\$1,000.00	\$700.00	\$1,400.00
12. CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,700.00	\$3,700.00	\$2,249.15	\$2,249.15	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
13. LONG SIDE DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	108	\$99.00	\$10,692.00	\$54.70	\$5,907.60	\$60.00	\$6,480.00	\$68.00	\$7,344.00
14. APPROXIMATELY 30 LF OF WET AUGER FOR 6" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$3,800.00	\$34,200.00	\$425.50	\$3,829.50	\$3,200.00	\$28,800.00	\$2,500.00	\$22,500.00
SUBTOTAL BASE BID SANITARY SEWER ITEMS				\$478,066.00	-	\$441,274.30	_	\$407,637.00	_	\$569,828.00
BASE BID STORM SEWER SYSTEM ITEMS 1. 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1259	\$81.00	\$101,979.00	\$95.35	\$120,045.65	\$95.00	\$119,605.00	\$87.00	\$109,533.00

				1) BAY U	TILITIES. LLC	2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) TEXASITE	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
2	30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	996	\$100.00	\$99,600.00	\$113.70	\$113,245.20	\$125.00	\$124,500.00	\$109.00	\$108,564.00
3	36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	382	\$137.00	\$52,334.00	\$152.35	\$58,197.70	\$170.00	\$64,940.00	\$150.00	\$57,300.00
4	42" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	144	\$202.00	\$29,088.00	\$202.10	\$29,102.40	\$245.00	\$35,280.00	\$215.00	\$30,960.00
5	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2781	\$0.10	\$278.10	\$0.10	\$278.10	\$1.00	\$2,781.00	\$1.00	\$2,781.00
6	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER INCLUDES ADJUSTMENTS, (ALL DEPTHS), COMPLETE IN PLACE	EA	24	\$3,100.00	\$74,400.00	\$2,500.45	\$60,010.80	\$3,100.00	\$74,400.00	\$3,600.00	\$86,400.00
7	STAGE I- MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENINE), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$3,200.00	\$16,000.00	\$1,136.75	\$5,683.75	\$2,100.00	\$10,500.00	\$2,000.00	\$10,000.00
8	STAGE II- MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$1,000.00	\$5,000.00	\$2,528.80	\$12,644.00	\$2,800.00	\$14,000.00	\$2,000.00	\$10,000.00
9	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$3,600.00	\$36,000.00	\$1,282.65	\$12,826.50	\$2,400.00	\$24,000.00	\$2,200.00	\$22,000.00
10	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$1,200.00	\$12,000.00	\$3,069.80	\$30,698.00	\$3,100.00	\$31,000.00	\$2,900.00	\$29,000.00
11	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-2" INLET, (15' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,600.00	\$3,600.00	\$1,343.40	\$1,343.40	\$2,100.00	\$2,100.00	\$2,200.00	\$2,200.00
12	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-2" INLET, (15' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00	\$3,805.35	\$3,805.35	\$3,450.00	\$3,450.00	\$3,400.00	\$3,400.00
13	BREAK INTO EXISTING INLET AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,872.30	\$1,872.30	\$650.00	\$650.00	\$650.00	\$650.00
14	OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$3,039.40	\$3,039.40	\$13,500.00	\$13,500.00	\$6,200.00	\$6,200.00
15	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$2,127.60	\$2,127.60	\$1,200.00	\$1,200.00	\$1,700.00	\$1,700.00
16	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1651	\$4.00	\$6,604.00	\$9.10	\$15,024.10	\$3.00	\$4,953.00	\$4.00	\$6,604.00
17	BREAK INTO EXISTING STORM SEWER MANHOLE WITH TYPE E INLET TOP AND CONNECT PROPOSED 42" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,200.00	\$2,200.00	\$2,492.30	\$2,492.30	\$650.00	\$650.00	\$800.00	\$800.00

				1) BAY U	TILITIES. LLC	2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) TEX	ASITE
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
18. REINFORCED CONCRETE T COMPLETE IN PLACE	YPE "E" INLET, TWO SIDES OPEN, ALL DEPTHS,	EA	2	\$5,500.00	\$11,000.00	\$4,133.60	\$8,267.20	\$5,800.00	\$11,600.00	\$3,850.00	\$7,700.00
19. REMOVE AND OFFSITE DIS DEPTHS, COMPLETE IN PL	SPOSAL OF EXISTING 24" HDPE STORM SEWER, ALL ACE	LF	35	\$24.00	\$840.00	\$66.85	\$2,339.75	\$28.00	\$980.00	\$40.00	\$1,400.00
20. 24" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN	ASTM F-2306, INCLUDES BEDDING AND BACKFILL, N PLACE	LF	35	\$64.00	\$2,240.00	\$75.40	\$2,639.00	\$128.00	\$4,480.00	\$60.00	\$2,100.00
	CONCRETE TYPE "C" MANHOLE ON EXISTING 24" LUDES ADJUSTMENTS AND APPURTENANCES, ALL ACE	EA	1	\$3,700.00	\$3,700.00	\$4,619.90	\$4,619.90	\$1,900.00	\$1,900.00	\$3,800.00	\$3,800.00
SUBTOTAL BASE BID STORM SEWE	R SYSTEM ITEMS			•	\$467,263.10		\$490,302.40	_	\$546,469.00	_	\$503,092.00
BASE BID WATER DISTRIBUTION SY 1. 4" HDPE WATER LINE, C-9I BACKFILL, ALL DEPTHS, CC	06, DR 9, INCLUDES FITTINGS, BEDDING AND	LF	89	\$30.00	\$2,670.00	\$32.55	\$2,896.95	\$32.00	\$2,848.00	\$27.00	\$2,403.00
2. 6" PVC WATER LINE, C-900 AND BACKFILL, ALL DEPTH), DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING IS, COMPLETE IN PLACE	LF	392	\$31.00	\$12,152.00	\$29.10	\$11,407.20	\$28.00	\$10,976.00	\$25.00	\$9,800.00
3. 8" PVC WATER LINE, C-900 AND BACKFILL, ALL DEPTH	D DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING IS, COMPLETE IN PLACE	LF	1344	\$36.00	\$48,384.00	\$38.80	\$52,147.20	\$35.00	\$47,040.00	\$37.00	\$49,728.00
· · · · · · · · · · · · · · · · · · ·	00 DR 18, CLASS 235, INCLUDES FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	195	\$58.00	\$11,310.00	\$93.75	\$18,281.25	\$65.00	\$12,675.00	\$66.00	\$12,870.00
TRENCH SAFETY SYSTEM F ALL DEPTHS, ALL SIZES, CO	OR WATER LINE, INCLUDES ALL LATERAL LEADS, OMPLETE IN PLACE	LF	3844	\$0.10	\$384.40	\$0.10	\$384.40	\$1.00	\$3,844.00	\$1.00	\$3,844.00
6. 8" AWWA GATE VALVE &	BOX, COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$2,139.75	\$2,139.75	\$2,400.00	\$2,400.00	\$2,050.00	\$2,050.00
7. 12" AWWA GATE VALVE 8	BOX, COMPLETE IN PLACE"	EA	1	\$3,700.00	\$3,700.00	\$4,267.35	\$4,267.35	\$4,200.00	\$4,200.00	\$3,800.00	\$3,800.00
	UDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE LL DEPTHS, COMPLETE IN PLACE	EA	5	\$5,900.00	\$29,500.00	\$6,748.70	\$33,743.50	\$6,800.00	\$34,000.00	\$6,700.00	\$33,500.00
	INGLE SERVICE, INCLUDES METER BOX, CURB CONNECTORS AND TAPS, ALL DEPTHS,	EA	31	\$1,100.00	\$34,100.00	\$916.80	\$28,420.80	\$1,150.00	\$35,650.00	\$1,000.00	\$31,000.00
	NGLE SERVICE, INCLUDES METER BOX, CURB STOP NECTORS AND TAPS, ALL DEPTHS, COMPLETE IN	EA	33	\$1,600.00	\$52,800.00	\$1,636.70	\$54,011.10	\$1,900.00	\$62,700.00	\$1,900.00	\$62,700.00
INCLUDES FITTINGS, ALL A	OPOSED 8" WATER LINE TO EXISTING WATER LINE, IDAPTERS AND CONNECTORS NECESSARY, AND UG & CLAMP AND 2" BLOW-OFF VALVE & BOX, N PLACE	EA	1	\$2,200.00	\$2,200.00	\$182.35	\$182.35	\$575.00	\$575.00	\$650.00	\$650.00
LINE, INCLUDES FITTINGS,	OPOSED 12" WATER LINE TO EXISTING WATER ALL ADAPTERS AND CONNECTORS NECESSARY, NG PLUG & CLAMP AND 2" BLOW-OFF VALVE & ETE IN PLACE	EA	2	\$2,500.00	\$5,000.00	\$182.35	\$364.70	\$835.00	\$1,670.00	\$950.00	\$1,900.00

				1) BAY UT	TILITIES. LLC	2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) TEXA	SITE
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
13.	$8^{\prime\prime}$ PLUG & CLAMP WITH $2^{\prime\prime}$ BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$750.00	\$750.00	\$607.90	\$607.90	\$900.00	\$900.00	\$1,450.00	\$1,450.00
14.	REMOVE AND OFFSITE DISPOSAL OF EXISTING GATE VALVE, ALL SIZES, COMPLETE IN PLACE	EA	2	\$400.00	\$800.00	\$486.30	\$972.60	\$250.00	\$500.00	\$200.00	\$400.00
15.	WET CONNECTION ON EXISTING LINE AND CONSTRUCT FIRE HYDRANT ASSEMBLY, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD, AND FIRE HYDRANT, COMPLETE IN PLACE	EA	1	\$9,700.00	\$9,700.00	\$5,349.35	\$5,349.35	\$8,700.00	\$8,700.00	\$6,500.00	\$6,500.00
16.	ADJUST EXISTING FIRE HYDRANT ASSEMBLY TO FINAL GRADE, COMPLETE IN PLACE	EA	2	\$600.00	\$1,200.00	\$ 1,33 7.35	\$2,674.70	\$250.00	\$500.00	\$400.00	\$800.00
17.	ADJUST EXISTING GATE VALVE BOX TO FINAL GRADE, ALL SIZES, COMPLETE IN PLACE	EA	6	\$200.00	\$1,200.00	\$212.75	\$1,276.50	\$250.00	\$1,500.00	\$200.00	\$1,200.00
	WET CONNECTION ON EXISTING LINE AND CONSTRUCT 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$5,500.00	\$11,000.00	\$7,355.35	\$14,710.70	\$4,700.00	\$9,400.00	\$1,500.00	\$3,000.00
SUBTOT	AL BASE BID WATER DISTRIBUTION SYSTEM ITEMS				\$228,950.40	_	\$233,838.30	_	\$240,078.00		\$227,595.00
	D DIVISION IV - MISCELLANEOUS ITEMS EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$3.00	\$300.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
2.	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
	HAUL AND DISPOSE OF UTILITY SPOILS TO DESIGNATED FILL AREAS ONSITE, USING OFF ROAD TRUCKS (00.5 MILE), INCLUDES PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	\$21,356.70	\$21,356.70	\$23,500.00	\$23,500.00	\$12,000.00	\$12,000.00
	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
5.	EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	10	\$168.00	\$1,680.00	\$109.40	\$1,094.00	\$190.00	\$1,900.00	\$130.00	\$1,300.00
6.	4" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	150	\$18.00	\$2,700.00	\$56.00	\$8,400.00	\$15.00	\$2,250.00	\$20.00	\$3,000.00
7.	EXTRA TRAFFIC CONTROL SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
8.	EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	300	\$15.00	\$4,500.00	\$15.00	\$4,500.00	\$15.00	\$4,500.00	\$15.00	\$4,500.00
9.	ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$170.00	\$170.00	\$911.80	\$911.80	\$100.00	\$100.00	\$400.00	\$400.00
	EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
11.	DEWATERING, ALL LINE SIZED AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2000	\$40.00	\$80,000.00	\$40.00	\$80,000.00	\$40.00	\$80,000.00	\$40.00	\$80,000.00

				1) BAY U	TILITIES. LLC	2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) TEXASITE	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
12.	WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2000	\$10.00	\$20,000.00	\$10.00	\$20,000.00	\$10.00	\$20,000.00	\$10.00	\$20,000.00
13.	8" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	150	\$34.00	\$5,100.00	\$68.15	\$10,222.50	\$48.00	\$7,200.00	\$25.00	\$3,750.00
SUBTOT	AL BASE BID DIVISION IV - MISCELLANEOUS ITEMS			-	\$145,100.00	-	\$156,835.00	_	\$149,800.00	_	\$135,300.00
	ATE NO. 1 ALTERNATE BID ITEMS NO. 1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	11465	\$53.00	\$607,645.00	\$55.55	\$636,880.75	\$50.00	\$573,250.00	\$56.35	\$646,052.75
2.	6" CEMENT STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	12247	\$4.00	\$48,988.00	\$2.10	\$25,718.70	\$4.00	\$48,988.00	\$2.00	\$24,494.00
3.	CEMENT FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	212	\$290.00	\$61,480.00	\$225.75	\$47,859.00	\$295.00	\$62,540.00	\$225.00	\$47,700.00
4.	EXCAVATION OF MATERIAL WITHIN ROAD RIGHT-OF-WAY INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	CY	3780	\$6.50	\$24,570.00	\$13.20	\$49,896.00	\$5.00	\$18,900.00	\$6.50	\$24,570.00
5.	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTON, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE"	LS	1	\$53,000.00	\$53,000.00	\$10,080.00	\$10,080.00	\$45,000.00	\$45,000.00	\$10,200.00	\$10,200.00
6.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1809	\$4.00	\$7,236.00	\$5.00	\$9,045.00	\$4.00	\$7,236.00	\$9,000.00	\$16,281,000.00
7.	4"X12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	5250	\$4.00	\$21,000.00	\$5.00	\$26,250.00	\$4.00	\$21,000.00	\$5.00	\$26,250.00
8.	INSTALL, MAINTAIN AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$2,205.00	\$2,205.00	\$500.00	\$500.00	\$5.00	\$5.00
9.	2' SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING 7" CONCRETE PAVEMENT, EXPOSE, CLEAN AND TIE EXISTING REBAR INTO PROPROSED 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	129	\$40.00	\$5,160.00	\$35.70	\$4,605.30	\$43.00	\$5,547.00	\$2,200.00	\$283,800.00
10.	FINAL LOT AND RESERVE GRADING, COMPLETE IN PLACE	EA	114	\$240.00	\$27,360.00	\$262.50	\$29,925.00	\$180.00	\$20,520.00	\$35.00	\$3,990.00
11.	REMOVE AND OFFSITE DISPOSAL OF EXISTING ACCESS ROAD, COMPLETE IN PLACE	SY	2075	\$17.00	\$35,275.00	\$13.60	\$28,220.00	\$8.00	\$16,600.00	\$265.00	\$549,875.00
12.	6" CRUSHED CONCRETE ACCESS ROAD PAVEMENT, WITH SELECT FILL SUBGRADE EXTENDING 1 FOOT OUTSIDE THE ROADWAY, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	344	\$50.00	\$17,200.00	\$50.20	\$17,268.80	\$42.00	\$14,448.00	\$13.00	\$4,472.00

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE SPRING CREEK TRAILS SECTION 5

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 159
MONTGOMERY COUNTY, TEXAS
AUGUST 01, 2025
LIA ENGINEERING, INC.
E. MURPHY
AUGUST 01, 2025
2022-2115 (9.2)

				1) BAY UTILITIES. LLC		2) FELLERS AND CLARK LP		3) R CONSTRUCTION CIVIL, LLC		4) TEXASITE	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
CUI INV ME REG WE SPE	BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, TOP OF RB AND GUTTER LINE, AND LOT CORNERS, AND SWALES, AND INLET ERT ELEVATIONS AND TOP OF CURB AND GUTTER LINE OF BOULVARD DIANS AND CUL-DE-SAC ISLANDS, INCLUDES AN EXHIBIT CERTIFIED BY A SISTEREDPROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS LL AS AN AUTOCAD FILE OF SURVEY (PER SECTION 5.2 IN BID CIFICATIONS AND SECTION 01000 "GENERAL REQUIREMENTS"), MPLETE IN PLACE	LS	1	\$14,000.00	\$14,000.00	\$4,796.45	\$4,796.45	\$7,500.00	\$7,500.00	\$51.00	\$51.00
SUBTOTAL A	LTERNATE NO. 1 ALTERNATE BID ITEMS NO. 1			-	\$924,914.00		\$892,750.00	_	\$842,029.00	_	\$17,902,459.75
1. 6" (FILL	NO. 2 ALTERNATE BID ITEMS NO. 2 CRUSHED CONCRETE ACCESS ROAD PAVEMENT, 16' WIDE WITH SELECT ., SUBGRADE EXTENDING 1 FOOT OUTSIDE THE ROADWAY, INCLUDES DTEXTILE FABRIC, COMPLETE IN PLACE	SY	966	\$50.00	\$48,300.00	\$35.00	\$33,810.00	\$29.00	\$28,014.00	\$58.00	\$56,028.00
STR 95%	CAVATED MATERIAL, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, IPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 6 STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL ADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СҮ	2700	\$7.00	\$18,900.00	\$8.00	\$21,600.00	\$5.50	\$14,850.00	\$10.00	\$27,000.00
SUBTOTAL A	LTERNATE NO. 2 ALTERNATE BID ITEMS NO. 2				\$67,200.00	_	\$55,410.00	_	\$42,864.00	_	\$83,028.00
BID SUMMA	RY										
BASE BID SAM	NITARY SEWER ITEMS				\$478,066.00		\$441,274.30		\$407,637.00		\$569,828.00
BASE BID STO	DRM SEWER SYSTEM ITEMS				\$467,263.10		\$490,302.40		\$546,469.00		\$503,092.00
BASE BID WA	ATER DISTRIBUTION SYSTEM ITEMS				\$228,950.40		\$233,838.30		\$240,078.00		\$227,595.00
BASE BID DIV	/ISION IV - MISCELLANEOUS ITEMS				\$145,100.00		\$156,835.00		\$149,800.00		\$135,300.00
TOTAL AMO	UNT BASE BID				\$1,319,379.50		\$1,322,250.00		\$1,343,984.00		\$1,435,815.00
TOTAL AMOU	JNT BASE BID				\$1,319,379.50		\$1,322,250.00		\$1,343,984.00		\$1,435,815.00
ALTERNATE E	BID ITEMS NO. 1				\$924,914.00		\$892,750.00		\$842,029.00		\$17,902,459.75
TOTAL ALTER	RNATE NO. 1 PLUS BASE BID				\$2,244,293.50		\$2,215,000.00		\$2,186,013.00		\$19,338,274.75
ALTERNATE I	NO. 2										
TOTAL AMOU	JNT BASE BID				\$1,319,379.50		\$1,322,250.00		\$1,343,984.00		\$1,435,815.00
ALTERNATE E	BID ITEMS NO. 2				\$67,200.00		\$55,410.00		\$42,864.00		\$83,028.00
TOTAL ALTER	RNATE NO. 2 PLUS BASE BID				\$1,386,579.50		\$1,377,660.00		\$1,386,848.00		\$1,518,843.00

FRN F-1386

LJA Engineering, Inc.

O:\LAND\2022\2115\080125_SCT Section 5 WSD&P_BT

			5) DACO F	AVING, INC.	6) CE BAR	KER LTD.	7) NORTHTEX CON	STRUCTION, LLC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SANITARY SEWER ITEMS 1. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0'-8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	263	\$44.50	\$11,703.50	\$50.00	\$13,150.00	\$43.18	\$11,356.34
2. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2515	\$46.50	\$116,947.50	\$55.00	\$138,325.00	\$50.90	\$128,013.50
3. 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1320	\$52.00	\$68,640.00	\$61.00	\$80,520.00	\$56.89	\$75,094.80
4. STANDARD PRECAST SANITARY SEWER MANHOLE, (0'-8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	29	\$2,677.00	\$77,633.00	\$3,300.00	\$95,700.00	\$4,608.76	\$133,654.04
5. EXTRA VERTICAL DEPTH, OF SANITARY SEWER MANHOLES (OVER 8' DEPTH), ALL SIZES, COMPLETE IN PLACE	VF	107	\$200.00	\$21,400.00	\$250.00	\$26,750.00	\$208.16	\$22,273.12
 WET AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE 	LF	165	\$257.00	\$42,405.00	\$180.00	\$29,700.00	\$431.11	\$71,133.15
7. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	5743	\$0.02	\$114.86	\$1.00	\$5,743.00	\$0.68	\$3,905.24
8. VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES INCLUDES, DIGITAL COPY, COMPLETE IN PLACE	LF	500	\$2.25	\$1,125.00	\$2.00	\$1,000.00	\$2.38	\$1,190.00
 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D- 3034, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, DROP, RISER, WYE, STACK, PLUG, MARKER, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE 	EA	33	\$1,650.00	\$54,450.00	\$1,850.00	\$61,050.00	\$887.29	\$29,280.57
10. "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-3034, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, DROP, RISER, WYE, STACK, PLUG, MARKER, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	LF	1630	\$82.00	\$133,660.00	\$90.00	\$146,700.00	\$60.95	\$99,348.50
11. STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$725.00	\$1,450.00	\$1,300.00	\$2,600.00	\$1,053.18	\$2,106.36
12. CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,050.00	\$1,050.00	\$3,200.00	\$3,200.00	\$1,341.05	\$1,341.05
13. LONG SIDE DOUBLE OR SINGLE 8" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, DROP STRUCTURE, STACK, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	108	\$88.00	\$9,504.00	\$95.00	\$10,260.00	\$74.55	\$8,051.40
14. APPROXIMATELY 30 LF OF WET AUGER FOR 6" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$2,060.00	\$18,540.00	\$3,500.00	\$31,500.00	\$1,272.91	\$11,456.19
SUBTOTAL BASE BID SANITARY SEWER ITEMS			-	\$558,622.86	_	\$646,198.00	_	\$598,204.26
BASE BID STORM SEWER SYSTEM ITEMS 1. 24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1259	\$94.00	\$118,346.00	\$116.00	\$146,044.00	\$99.13	\$124,804.67

			5) DACO PAVING, INC.		6) CE BA	RKER LTD.	7) NORTHTEX CONSTRUCTION, LLC		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
2	. 30" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	996	\$115.50	\$115,038.00	\$143.00	\$142,428.00	\$117.35	\$116,880.60
3	. 36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	382	\$165.00	\$63,030.00	\$192.00	\$73,344.00	\$158.01	\$60,359.82
4	. 42" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	144	\$223.00	\$32,112.00	\$248.00	\$35,712.00	\$249.78	\$35,968.32
5	. TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	2781	\$0.02	\$55.62	\$1.00	\$2,781.00	\$0.65	\$1,807.65
6	. REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER INCLUDES ADJUSTMENTS, (ALL DEPTHS), COMPLETE IN PLACE	EA	24	\$2,990.00	\$71,760.00	\$3,700.00	\$88,800.00	\$4,244.73	\$101,873.52
7	. STAGE I- MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENINE), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$1,751.00	\$8,755.00	\$1,600.00	\$8,000.00	\$2,544.66	\$12,723.30
8	. STAGE II- MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$2,890.00	\$14,450.00	\$1,600.00	\$8,000.00	\$3,501.00	\$17,505.00
9	. STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$1,450.00	\$14,500.00	\$2,300.00	\$23,000.00	\$1,892.55	\$18,925.50
10	. STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	10	\$2,885.00	\$28,850.00	\$3,200.00	\$32,000.00	\$3,205.74	\$32,057.40
11	. STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-2" INLET, (15' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,550.00	\$1,550.00	\$3,000.00	\$3,000.00	\$2,544.66	\$2,544.66
12	. STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-2" INLET, (15' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,610.00	\$3,610.00	\$3,200.00	\$3,200.00	\$4,214.69	\$4,214.69
13	. BREAK INTO EXISTING INLET AND CONNECT PROPOSED STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$515.00	\$515.00	\$3,000.00	\$3,000.00	\$1,462.38	\$1,462.38
14	OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$10,300.00	\$10,300.00	\$1,200.00	\$1,200.00	\$17,222.58	\$17,222.58
15	. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$1,200.00	\$1,200.00	\$2,260.02	\$2,260.02
16	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - V-BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1651	\$3.50	\$5,778.50	\$4.00	\$6,604.00	\$9.03	\$14,908.53
17	. BREAK INTO EXISTING STORM SEWER MANHOLE WITH TYPE E INLET TOP AND CONNECT PROPOSED 42" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$515.00	\$515.00	\$3,000.00	\$3,000.00	\$4,038.55	\$4,038.55

				5) DACO F	AVING, INC.	6) CE BAI	RKER LTD.	7) NORTHTEX CON	STRUCTION, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
18	REINFORCED CONCRETE TYPE "E" INLET, TWO SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,600.00	\$5,200.00	\$3,500.00	\$7,000.00	\$4,214.69	\$8,429.38
19	. REMOVE AND OFFSITE DISPOSAL OF EXISTING 24" HDPE STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	35	\$32.00	\$1,120.00	\$60.00	\$2,100.00	\$50.00	\$1,750.00
20	. 24" HDPE STORM SEWER, ASTM F-2306, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	35	\$67.00	\$2,345.00	\$95.00	\$3,325.00	\$174.13	\$6,094.55
21	. CONSTRUCT REINFORCED CONCRETE TYPE "C" MANHOLE ON EXISTING 24" HDPE STORM SEWER, INCLUDES ADJUSTMENTS AND APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,090.00	\$3,090.00	\$6,200.00	\$6,200.00	\$7,148.37	\$7,148.37
SUBTO	TAL BASE BID STORM SEWER SYSTEM ITEMS			-	\$504,420.12		\$599,938.00	_	\$592,979.49
	D WATER DISTRIBUTION SYSTEM ITEMS . 4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	89	\$28.00	\$2,492.00	\$30.00	\$2,670.00	\$21.39	\$1,903.71
2	. 6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	392	\$30.00	\$11,760.00	\$29.00	\$11,368.00	\$25.68	\$10,066.56
3	. 8" PVC WATER LINE, C-900 DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1344	\$39.25	\$52,752.00	\$39.00	\$52,416.00	\$36.80	\$49,459.20
4	. 12" PVC WATER LINE, C-900 DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	195	\$69.00	\$13,455.00	\$68.00	\$13,260.00	\$79.65	\$15,531.75
5	. TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3844	\$0.02	\$76.88	\$1.00	\$3,844.00	\$0.53	\$2,037.32
6	. 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,956.50	\$1,956.50	\$1,900.00	\$1,900.00	\$2,834.35	\$2,834.35
7	. 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE"	EA	1	\$3,604.00	\$3,604.00	\$3,550.00	\$3,550.00	\$4,915.19	\$4,915.19
8	. FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$6,180.00	\$30,900.00	\$6,800.00	\$34,000.00	\$7,214.27	\$36,071.35
9	. SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP AND ALL NECESSARY CONNECTORS AND TAPS, ALL DEPTHS, COMPLETE IN PLACE	EA	31	\$1,030.00	\$31,930.00	\$840.00	\$26,040.00	\$1,057.32	\$32,776.92
10	. LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP AND ALL NECESSARY CONNECTORS AND TAPS, ALL DEPTHS, COMPLETE IN PLACE	EA	33	\$1,751.00	\$57,783.00	\$990.00	\$32,670.00	\$1,708.06	\$56,365.98
11	. WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$515.00	\$515.00	\$3,200.00	\$3,200.00	\$1,639.99	\$1,639.99
12	. WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,030.00	\$2,060.00	\$3,500.00	\$7,000.00	\$1,182.03	\$2,364.06

				5) DACO F	AVING, INC.	6) CE BAF	RKER LTD.	7) NORTHTEX CO	NSTRUCTION, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	8" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	1	\$1,030.00	\$1,030.00	\$840.00	\$840.00	\$1,694.70	\$1,694.70
	REMOVE AND OFFSITE DISPOSAL OF EXISTING GATE VALVE, ALL SIZES, COMPLETE IN PLACE	EA	2	\$258.00	\$516.00	\$110.00	\$220.00	\$874.93	\$1,749.86
	WET CONNECTION ON EXISTING LINE AND CONSTRUCT FIRE HYDRANT ASSEMBLY, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD, AND FIRE HYDRANT, COMPLETE IN PLACE	EA	1	\$5,148.00	\$5,148.00	\$8,700.00	\$8,700.00	\$13,965.41	\$13,965.41
	ADJUST EXISTING FIRE HYDRANT ASSEMBLY TO FINAL GRADE, COMPLETE IN PLACE	EA	2	\$515.00	\$1,030.00	\$560.00	\$1,120.00	\$435.43	\$870.86
	ADJUST EXISTING GATE VALVE BOX TO FINAL GRADE, ALL SIZES, COMPLETE IN PLACE	EA	6	\$51.50	\$309.00	\$110.00	\$660.00	\$435.43	\$2,612.58
	WET CONNECTION ON EXISTING LINE AND CONSTRUCT 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$3,610.00	\$7,220.00	\$7,000.00	\$14,000.00	\$25,102.64	\$50,205.28
SUBTOTA	AL BASE BID WATER DISTRIBUTION SYSTEM ITEMS				\$224,537.38	_	\$217,458.00	_	\$287,065.07
	D DIVISION IV - MISCELLANEOUS ITEMS EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
2.	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
	HAUL AND DISPOSE OF UTILITY SPOILS TO DESIGNATED FILL AREAS ONSITE, USING OFF ROAD TRUCKS (00.5 MILE), INCLUDES PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LS	1	\$61,000.00	\$61,000.00	\$1,000.00	\$1,000.00	\$3,544.75	\$3,544.75
	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
	EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	10	\$150.00	\$1,500.00	\$100.00	\$1,000.00	\$147.95	\$1,479.50
	4" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	150	\$26.00	\$3,900.00	\$15.00	\$2,250.00	\$24.58	\$3,687.00
	EXTRA TRAFFIC CONTROL SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$900.00	\$900.00	\$150.00	\$150.00	\$150.00	\$150.00
	EXTRA CEMENT STABILIZED SAND BACKFILL, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	300	\$15.00	\$4,500.00	\$15.00	\$4,500.00	\$15.00	\$4,500.00
9.	ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$450.00	\$450.00	\$120.00	\$120.00	\$573.91	\$573.91
	EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
	DEWATERING, ALL LINE SIZED AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2000	\$40.00	\$80,000.00	\$40.00	\$80,000.00	\$40.00	\$80,000.00

				5) DACO F	PAVING, INC.	6) CE BA	RKER LTD.	7) NORTHTEX CO	NSTRUCTION, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
(WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2000	\$10.00	\$20,000.00	\$10.00	\$20,000.00	\$10.00	\$20,000.00
	8" PVC IRRIGATION SLEEVE, SCHEDULE 40, INCLUDES RISERS, PVC END CAPS, CEMENT STABILIZED SAND BACKFILL AND MARKERS, COMPLETE IN PLACE	LF	150	\$36.00	\$5,400.00	\$25.00	\$3,750.00	\$40.31	\$6,046.50
SUBTOTA	L BASE BID DIVISION IV - MISCELLANEOUS ITEMS			-	\$187,850.00	_	\$122,970.00	-	\$130,181.66
	TE NO. 1 ALTERNATE BID ITEMS NO. 1								
1. 6	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	11465	\$48.25	\$553,186.25	\$49.00	\$561,785.00	\$53.61	\$614,638.65
2. 6	6" CEMENT STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	12247	\$3.00	\$36,741.00	\$7.00	\$85,729.00	\$3.92	\$48,008.24
A	CEMENT FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	212	\$225.00	\$47,700.00	\$342.00	\$72,504.00	\$299.57	\$63,508.84
H (<u>9</u>	EXCAVATION OF MATERIAL WITHIN ROAD RIGHT-OF-WAY INCLUDES HAULING EXCAVATED MATERIAL TO DESIGNATED FILL AREAS ONSITE USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPING, PLACEMENT COMPACTION TO +95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS AND RE-APPLICATION OF STRIPPING TO FINAL GRADED AREA, COMPLETE IN PLACE	СҮ	3780	\$8.75	\$33,075.00	\$6.00	\$22,680.00	\$4.26	\$16,102.80
F	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTON, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE"	LS	1	\$10,174.59	\$10,174.59	\$55,000.00	\$55,000.00	\$8,921.12	\$8,921.12
6. 6	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1809	\$4.20	\$7,597.80	\$5.00	\$9,045.00	\$4.95	\$8,954.55
7. 4	4"X12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	5250	\$4.20	\$22,050.00	\$5.00	\$26,250.00	\$4.95	\$25,987.50
	INSTALL, MAINTAIN AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$750.00	\$750.00	\$750.00	\$750.00	\$729.50	\$729.50
F	2' SAWCUT, REMOVE AND OFFSITE DISPOSAL OF EXISTING 7" CONCRETE PAVEMENT, EXPOSE, CLEAN AND TIE EXISTING REBAR INTO PROPROSED 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	129	\$26.50	\$3,418.50	\$25.00	\$3,225.00	\$24.58	\$3,170.82
10. F	FINAL LOT AND RESERVE GRADING, COMPLETE IN PLACE	EA	114	\$230.00	\$26,220.00	\$370.00	\$42,180.00	\$192.54	\$21,949.56
	REMOVE AND OFFSITE DISPOSAL OF EXISTING ACCESS ROAD, COMPLETE IN PLACE	SY	2075	\$9.50	\$19,712.50	\$25.00	\$51,875.00	\$13.97	\$28,987.75
9	6" CRUSHED CONCRETE ACCESS ROAD PAVEMENT, WITH SELECT FILL SUBGRADE EXTENDING 1 FOOT OUTSIDE THE ROADWAY, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	344	\$26.00	\$8,944.00	\$55.00	\$18,920.00	\$81.84	\$28,152.96

			5) DACO PAVING, INC.		6) CE BARKER LTD.		7) NORTHTEX CONSTRUCTION, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
13. AS BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, TOP OF CURB AND GUTTER LINE, AND LOT CORNERS, AND SWALES, AND INLET INVERT ELEVATIONS AND TOP OF CURB AND GUTTER LINE OF BOULVARD MEDIANS AND CUL-DE-SAC ISLANDS, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTEREDPROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY (PER SECTION 5.2 IN BID SPECIFICATIONS AND SECTION 01000 "GENERAL REQUIREMENTS"), COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$9,500.00	\$9,500.00	\$4,520.04	\$4,520.04
SUBTOTAL ALTERNATE NO. 1 ALTERNATE BID ITEMS NO. 1				\$774,569.64		\$959,443.00	_	\$873,632.33
ALTERNATE NO. 2 ALTERNATE BID ITEMS NO. 2 1. 6" CRUSHED CONCRETE ACCESS ROAD PAVEMENT, 16' WIDE WITH SELECT FILL, SUBGRADE EXTENDING 1 FOOT OUTSIDE THE ROADWAY, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	966	\$39.00	\$37,674.00	\$55.00	\$53,130.00	\$63.45	\$61,292.70
 EXCAVATED MATERIAL, INCLUDES HAULING EXCAVATED MATERIAL ONSITE, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, FINAL GRADING, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE 	CY	2700	\$8.00	\$21,600.00	\$25.00	\$67,500.00	\$10.65	\$28,755.00
SUBTOTAL ALTERNATE NO. 2 ALTERNATE BID ITEMS NO. 2				\$59,274.00	-	\$120,630.00	_	\$90,047.70
BID SUMMARY								
BASE BID SANITARY SEWER ITEMS				\$558,622.86		\$646,198.00		\$598,204.26
BASE BID STORM SEWER SYSTEM ITEMS				\$504,420.12		\$599,938.00		\$592,979.49
BASE BID WATER DISTRIBUTION SYSTEM ITEMS				\$224,537.38		\$217,458.00		\$287,065.07
BASE BID DIVISION IV - MISCELLANEOUS ITEMS				\$187,850.00		\$122,970.00		\$130,181.66
TOTAL AMOUNT BASE BID ALTERNATE NO. 1				\$1,475,430.36		\$1,586,564.00		\$1,608,430.48
TOTAL AMOUNT BASE BID				\$1,475,430.36		\$1,586,564.00		\$1,608,430.48
ALTERNATE BID ITEMS NO. 1				\$774,569.64		\$959,443.00		\$873,632.33
TOTAL ALTERNATE NO. 1 PLUS BASE BID				\$2,250,000.00		\$2,546,007.00		\$2,482,062.81
ALTERNATE NO. 2								
TOTAL AMOUNT BASE BID				\$1,475,430.36		\$1,586,564.00		\$1,608,430.48
ALTERNATE BID ITEMS NO. 2				\$59,274.00		\$120,630.00		\$90,047.70
TOTAL ALTERNATE NO. 2 PLUS BASE BID				\$1,534,704.36		\$1,707,194.00		\$1,698,478.18